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a) logx®y=logx’+logy=2logx +logy = 20+

7

B) log —is =logy’ —logx® = 7logy —3logx = 7p — 3a
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1000 log1000=3
b)) IogW:Ioglooo—logxy = 3—(logx+logy)=3-(a+p)=3-a—P

logxy =logx+logy =a+p

Iog%:logx—logyza—ﬁ

logx* =4log X = 4a

logy’ =7logy =78

log x*y? = log x® + logy* =3log x + 2log y = 3a.+ 2

log x°y" =logx® +logy’ =5logx +7logy =50+ 7B

log x®y* =logx® +log y* =8log x + 4logy = 8a.+ 4p
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Iog?: logx® —logy’ =4logx —3logy =40—-3p3
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Iog%: logx® —logy* =9logx —4logy = 9a— 4

log(xy)’ =5log xy =5(log x +log y) =50+ 53

log (x*y* )5 =5logx”y* =5(logx” +3logy*) =

logZ- =logy® —logx® =6logy —5log x = 6B —5a

log-Z- =logy® —logx* =5logy —14log x =58 —14a



=5(2logx+3logy)=5(2a+3B)=10a+15p

log (x*y* )2 =2logx‘y® =2(logx* +logy®) =

=2(4logx+5logy)=2(40+5B)=8a+10B

Iog(%) =6log (%) =6(logy—logx)=6a-6p

Iog(%} =4Iogy 4(logx” —logy®)=4(7logx—3logy)=4(70—3p)=28a—12B

Ioglz logl—logx =0-logx =—a
X

Iogi5 =logl-logy® =0-5logy = 50
y
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lo logx2 ==log X = >
g/x =log 5109x =2

52, 2
logfy* =logy* = lo gy—?f3
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log—; =log x =—7Iogx=—7

1
Iog(xz\/y):logxz+Iog\/§:logx2+logyE :2Iogx+%logy=2a+g

log \/x*y* = log(x’ ) Iogxy = (Iogx3+logy5)=

H

log

=1(3Iogx+5logy):1(3a+5[3)=37a+%

Iog}/l; logy* Iog\/_ 4logy— Iogx2—4logy——logx 4[3——

log10x =log10+logx =1+7logx =1+a

4
log— =logy—-10og100=B-2
9100 gy—1og B



log100x'y® =1og100 + log x*y°® =2 +log x* +log y° =

=2+4logx+5logy =2+4a+5p

10X =10og10x° —logy’ =log10+logx' —logy’ =1+5logx —7logy =1+5a—7B

1
log \10x°y* = log (10x°y* )? = % log10x°%y? = %(Iog 10+logx’ +logy’) =

1+30+2B
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log—= _logx® —log /1000y’ 3|ogx-—4091000y -
J1000y’

;(1+3Iogx+2Iog y)= 1(1+30c+2[3)

=3Iogx—%(loglOOO+logy7)=3Iogx—%(3+7logy)=

3, 7B_6u=3+7B
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